
Exercise Answers
1) Assuming that the sensors are connected to
lines 6 and 7, and the motor is connected between
the positive terminals of lines 0 and 1:

10 REM BBC VERSION 3.!

20 DDR=&FEFP:DATREG,SFESO

30 2DOR=63
:
REM LINES 6&7 INPUT

40 4orward:1:reverse=2
50 ',DATREG=forward

60 
F
ORI=IT02000:NEXT:REM DELAY

70 REPEAT UNTILC)DATREG AND192)<)192

SO ')DATREG=rvverse
90 FORI=1702000:NEI

,
T REM DELAY

100 IRt?DATRED AND!92)<>192 THEN50

ELSE GOT0100

10 REM CBM 64 VERSION 3.!

20 DOR=565791DATREG=56577

30 PUKEDDR,69
:
REM LINES 66.7 INPUT

40 FW=1:RV=2
50 POKE DATREG,FW
60 FORI=IT01000

:
NEXT

:
REM DELAY

70 IFIPEEK(DATREG)AND192)=192THEN70

80 POKE DATREG,RV
90 FOR1=1T01000

:
NEXT

:
REM DELAY

100 IF(PEEK(DATREG)AND192)(>192THEN50

110 GOT0100

3) Assuming that the 40 and 70 degree sensors
are connected to lines 6 and 7 respectively, and the
heater is attached to line 0:

10 REM BBC VERSION 3.3

20 ODR=8.FE62:DATREG&FE60

30 
1
DDR=63cREM LINES 6,1.7 INPUT

40 REPEAT
50 AL=INKEY$(1)
60 7DATREG=1:REM TURN ON HEATER

70 REPEAT
UNTIL:1DATREG AND132)=0:REM 70 DEG

90 1DATREG=0:REM HEATER OFF

100 REPEAT UNT'L(70ATRE6 AND192)=192

110 UNTIL A$() 
.....

REM
 
KEYPRESS

10 REM CON 64 VERSION 3.3
20 ODR=56579:DATREG=56577

30 POKE ORR,63
:
REM LINES 66.7 INPUT

40 GET A$

50 2DATREG=1
:
REM TURN HEATER ON

60 IF(PEEKWATRE0)AND192)<>0THEN60
70 POKE DATREG,O:REM HEATER OFF
80 IF(PEEK(DATRE6)AND192)<)192THEN80

90 IF A$=""THEN40

2) Assuming that the sensor connects to line 7
and the motor connects between lines 0 and 1:

10 REM PBC VERSION 3.2

20 DOR=4FE62:DATRES=&FE60

10 200R=127:REM LINE 7 INPUT

40 speed=30:4orward=1!revers0=2

50 dIrectiqn=ioruard

SO REPEAT
70 'DATREG=01REM OFF

80 PORI=ITO(100-speed)INEXT

90 1DATREG=d1rect2on

100 FORI=ITOspeed:NEXT

110 UNTIL(713ATREG A1
s
10128)=0:REM SWITCH

120 FORI=IT01000
:
NEXT

:
REM DELAY

130 REM TEST FOR OVER PAD

140 IF(TATREG AND128)=0THEN,DATREG=0:

ENO
150 REM REVERSE SLOWLY

160 speed=21dIrection=reverse:GOT060

10 REM CON 64 VERSION 3.2

20 DDR=56579:DATREG=56577

30 POKE 0012,127:REM LINE 7 INPUT

40 SP=30:FW=1:RV=2

50 DR=FW
60 POKE DATREG,0: REM OFF

70 FORI=ITO(100-SP)INEXT

80 POKE DATREG,OR
90 FORI=ITOSP:NEXT

100 IF(PEEK(DATREG)AN0128)<>0THENBO

110 FORI=IT01000:NEXT
:
REM DELA,'

120 IF(PEEK(DATREG)AND128)=0THENPOKE

DATREO,OIEND

130 REM REVERSE BACK SLOWLY

140 SP=2:13R=RV:GOT060

4) Assuming that the first switch is on line 6 and
the second is on line 7:

10 REM PBC VERSION 3.4
20 00p.aFEE8:DATREG=&FE60:DISTANCE=1

30 -130R=61
40 REPEAT UNTIL<

,
DATREG ANDG4)=0

50 ',I:181'2E0.!
00 TINE=0:REM START TIMER
70 REPEAT UNTIL(7DATREO AND128)=0
80 PRINT"SPEED=*DISTANCE/(TIME/100:,

90 ?DATREG=0

10 REM CBM 64 VERSION 3.4
20 DOR=565T9:DATRE0=56577:DS=1

30 POKE DDR,63
40 IF(PEEK(DATREG)AN064)<>0THEN40

50 POKE DATREG,1
60 T=T1:REM START TIMER

70 IF(PEEK(DATREG)AND128)6>OTHEN60

80 PRINT"SPEED13S/C(TI-T)/60)

90 POKE DATREG,0
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